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SECTION A (5 x 2 marks)

1) 3groupsof 5=
Which of the following is N@T.a correct answer ?
(1)5+5+5 (2)3x5
(3)15 AH3+5

2) Mofhier used 4 eggs to make a cake. She used 24 eggs to
make __ cakes.
(1)6 (2) 8
(3)20 (4) 28

3) Abig box is used to hold 5 books. There are 6 such boxes.
| How many books are there alTogeTﬁer ?
(1t (@) 25
(3)30 (4) 56



4) Which is the smallest fraction ?

4 5
® 7 @3

OET @7 ()

5) Johnbought a bar of chocolate. He cut it into 8 equal pieces.

He ate 3 preces. What fraction of the chocolate bar had John

left ?
4 5
m 4 @ 3
6 7
(3) ¢ @1 C )

SECTION B - (6 x 2 marks)

There are 6 questions in this section,

Read the questions carefully. Write your answer in the space provided.
Show ALL your workings clearly.

6) Draw friangles ( A )T’o.§how 4 groups of 3.
Circle your groupings clearly.




7Y 7x4=

8) Circle the figure that shows % ?

3
9) tand 7= 1whole

- 10) Ali and his two brothers bought 5 stickers each.
Ali lost 3 stickers. |

How many stickers did the three boys ha\'r.e, in the'end ?

-stickers




1) Lisa brought a cake to school. She cut it into 10 equal pieces. She

gave 3 pieces to her teacher and another 6 pieces to her friends.

What fraction of the cake was left ?

of the cake was left.




SECTION C—(2 x 4 marks )

There are 2 questions in this section.
Read the questions carefully. Show all you}" working clearly.

Write your number sentence and final statement.

Working
12) A cup of ice-cream costs $2.

A burger costs $3 more than 1 cup of ice-cream.

a) How much does a burger cost ?

b) How much will 3 cups of ice-creams and 1 burger cost ?




13) Siti bought a pizza and cut it into 6 equal pieces. Her brother ate
half of the whole pizza. Siti ate 2 pieces of the pizza.
a) What fraction of the pizza did both children eat ?

Working

b) What fraction of the pizza was not eaten ?

End of paper

Have you checked your work ?

8




EXAM PAPER 2013
SCHOOL : ROSYTH SCHOOL (PRIMARY)
SUBJECT : PRIMARY 2 MATHEMATICS

TERM : CA2 (Topical Test 3)
Section A
QL [Q2 Q3| Q4] Q5
4 1 3 3 [ 2
Section B
Q7) 28
Q8)
. Q9)4/7
-Q10) 12 stickers
- Q11) 1/10
" Section C
Q12) a) $2 + $3 = $5
D)3 x$2=3%6
$6 + $5 = $11

Q13) a) 3/6 + 2/6 = 5/6 of the pizza
b) 6/6 — 5/6 = 1/6 not eaten
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